I A 2 U

102 25 RAmmaEIsAng

B B4 5 XA

(BT RLAELI)

BEFBRS

(FeAx &5 Em)

l.FABE AL BRS  BEREBREAEEEBL TG -

2. &R 0 100 o4 o
SAREHA OAMEME > —A 20 5 0 &3 100 4 -

4 FRERBLBERELL -

b.ERXPHEMEARF AL BfE %M -

6. 5% - FHABEERLELE B4R -
TAZHTHERIFRZXA (RAGHMERESAE) 2T FHEH# -



102 SHEEHFERTEEIIE AL

sate.

(U AR PN R
SEULZGHIE RS H1HEH #1H
1. Give the control system in Fig. 1, find the value of K so that there is 5% error in the steady
RG) +con ELS) K(s+5) Cls)

S(s + 6)(s + (s + 8)

Fig.1 A unity feedback control system.

2. Given a unity feedback system that has the forward transfer function G(s) = ?]—(%
Do the following:
a. Sketch the root locus.
b. Find the imaginary-axis crossing.
c. Find the gain, K, at the jw-axis crossing.
d. Find the break point.
e. Find the angle of departure from the complex poles.

3. Give the system represented in state space as follows.

. 0 2 0|,
x(t) = L 3 _ 5}c(t) + [Je

y=l 3 x<0)=m

Solve for (7).

Given a second-order system with two poles (-3 +;7, -3 + -j7), find {(damping ration),

wp(natural frequency), Tp(peak time), %OS (percent overshot) and Ty(setting time).

5. Determine whether the system is controllable or not.
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